| TO BOARD OF PUBLIC WORKS City Engineer's Estimate | es For WO-23-22 RIVER P | OINT FILL TYPE OF WORK PERFORMED | | | | September 6, 2 | 2 <u>8</u> FINA |
|---|-------------------------|----------------------------------|--------------------|------------------------------------|---------------------|---------------------|------------------------------------|
| ADVANCE CONSTRUCTION, INC | July 11, 202 | | 5) | | November 1, 2023 | | \$202,964.50 AMOUNT OF CONTRACT |
| RIVER POINT | | | | | | | CO#1 \$65,042.00 |
| STREET | | FROM - TO | | | | | TOTAL \$268,006.50 |
| DESCRIPTION | NO. 1 PREVIOUSLY | NO. 2 COST WORK PREVIOUSLY | NO. 3 COMPLETED | NO. 4 COST WORK COMPLETED TO | NO. 5 DIFFERENCE | NO. 6 DIFFERENCE | 9-6-33 Date filed with Secretary |
| | COMPLETED | COMPLETED | TO DATE | DATE | COLUMNS 1&3 | COLUMNS 2 & 4 | |
| | | | | | | | Date approved by Board |
| | | | | | | | |
| | | | | | | | AMOUNT RECOMMENDED |
| | | | | | | | |
| | | | | | | | \$25,317.11 |
| INVOICE #: PAY APP 2 | | SEE | COMPUTER PRIN | TOUT | | | |
| NVOICE DATE: 8/31/2023 | | | | I | | | |
| 114VOICE DATE. 0/31/2023 | | | FOR DETAILS | | | | BOARD |
| DAY ADD DEDICD: 8/49/2022 TUDOUGU 09/20/2022 | | | TONDETAILO | | | | SIGNATURES |
| PAY APP PERIOD: 8/10/2023 THROUGH 08/30/2023 | | | | | | | SIGNATURES |
| | | | | | | | 116 |
| | | | | | | | |
| | | | | | | | X |
| | | | | | | | 120 |
| | | | | | | / | 1101 |
| | | | | | | | 26/54 |
| | | | | | | | 1000 |
| | | | | | | | 10, m |
| | | | | | | | 7 |
| | | | | | | | Ann I Trienden |

\$247,763.50

\$242,689.39

\$268,006.50

\$268,006.50

Check No.
Voucher No.

Council Board

\$20,243.00

\$25,317.11

\$25,317.11

4422-32290-582900

Voucher

Signature P. E. CITY ENGINEE

TOTALS

PAYMENTS (100%)

AMOUNT DUE, FINAL PAYMENT

PAY ESTIMATE WORKSHEET FCR River Point Fill

CITY OF MANITONOC CONTRACT NO. WO-23-22

Green Bay, WI 54313

PAY ESTIMATE NO.: 2-Final DATE: September 6, 2023

CONTRACT DATE: July 11, 2023

COMPLETION DATE: November 1, 2023

Contractor: Advance Construction, Inc. 2141 Woodale Ave.

CONTRACT AMOUNT: Change Order #1: Change Order #2-Pinal: \$202,964.50 \$65,042.00

\$0.00

\$268,006.50

| | | | | | | | QUANTITY | S OF WORK | COST WORK | | |
|-----------|---|------|----------|-------------|-----------|--------------------|-----------|----------------|--------------|------------|-------------|
| ITEN | | | | | QUANTITY | COST WORK PREVIOUS | COMPLETED | COMPLETED | COMPLETED | QUANTITY | COST WORK |
| | | | BID | UNIT | PREVIOUS | | TO DATE | TO DATE | TO DATE | DIFFERENCE | DIFFERENCE |
| NO. | ITEM DESCRIPTION | UNIT | QUANTITY | PRICE | COMPLETED | COMPLETED | IO DATE | 10 DAIL | | | |
| CEPTERAL. | | | _ | | | | | | | | |
| 1. | MOSILIEATION | 24 | 1 | \$19,000.00 | 1.00 | \$19,000.00 | 1.00 * | 1000 | \$19,000.00 | 0.00 | \$0.00 |
| 2. | CONSTRUCTION STARTING | 1.4 | 2 | \$3,000.00 | 0.00 | \$0.00 | 0.00 | 09 | \$0.00 | 0.00 | \$0.00 |
| 3. | TRAFFIC COSTROL | £\$ | 1 | \$2,000.00 | 1.00 | \$2,000.00 | 1.00 • | 1000 | \$2,000.00 | 0.00 | \$0.00 |
| | Subtotal Items 1-3 | | | | | \$21,000.00 | | | \$21,000.00 | | \$0.00 |
| ERCS TON | CONTROL | | | | | | | | | | |
| 4. | SILT FENCE | ш | 72 | \$2.00 | 465 | \$930.00 | 465 • | 6461 | \$930.00 | 0.60 | \$0.00 |
| 5. | TRACKING PAD | EA | 1 | \$1,200.00 | 3 | \$3,600.00 | 3 • | 3001 | \$3,600.00 | 0.00 | \$0.00 |
| 6. | CLEARING AND GROESING | и | 1 | \$3,000.00 | 1 | \$3,000.00 | 1 • | 1001 | \$3,000.00 | 0.00 | \$0.00 |
| 7. | INLET PROTECTION | EA | 5 | \$100.00 | 5 | \$500.00 | 5 • | 1001 | \$300.00 | 0.00 | \$0.00 |
| | Subtotal Items 4-7 | | | | | \$8,030.00 | | | \$8,030.00 | | \$0.00 |
| LART SHOP | ak | | | | | | | | | | |
| ١. | NAVE COMMEN EXCAVATION AND COMPACT | CT | 6,855 | \$8.50 | 6,855 | \$50,267.50 | 6,855 | 1000 | \$58,247.50 | 0.00 | \$0.00 |
| ۶. | SAVE COMMEN EXCAVATION AND STOCKPILE | CI | 0,600 | \$7.00 | 12,616 | \$88,312.00 | 12,616 | 1476 | \$88,312.00 | 0.00 | \$0.00 |
| 10. | LOAD STOCKPILED HATERIAL FROM THE SITE FOR BAULING | CI | 15,455 | \$2.00 | 10,285 | \$20,570.00 | 10,285 | 671 | \$20,570.00 | 0.00 | \$0.00 |
| | Fubtotal Items 8-10 | | | | | \$167,149.50 | | | \$167,149.50 | | \$0.00 |
| DEPROVED | GUTS . | | · | | | | | | | | _ |
| 11. | STOOM DELET ON EXISTING STOOM LINE | 2A | 1 | \$4,500.00 | 1 | \$4,500.00 | 1 | 1009 | \$4,500.00 | 0.00 | \$0.00 |
| 12. | REEDING WITH 3" TOPSOIL | ax | 6,530.00 | \$3.10 | 0.00 | \$0.00 | 6,530.00 | 1001 | \$20,243.00 | 6,530.00 | \$20,243.00 |
| | Subtotal Items 11-12 | • | | | | \$4,500.00 | | | \$24,743.00 | | 820,243.00 |
| BANGE (| PRINTS | | | | | | | | | | |
| CO1.1 | Inlet Adjustment | EA | 1 | \$500.00 | 1 | \$500.00 | 1 | 1004 | \$300.00 | 0.∞ | \$0.00 |
| | Additional Silt Pence (price increase) | 127 | 220 | \$10.00 | 220 | \$2,200.00 | 220 | 1008 | \$2,200.00 | 0.00 | \$0.00 |
| | Proctor Test | LS | 1 | \$660.00 | 1 | \$660.00 | 3 | 1004 | \$660.00 | 0.00 | \$0.00 |
| | Excavate and Load Material From the Sile for Loading | CT | 10,931 | \$4.00 | 10,931 | \$43,724.00 | 10,931 | 1004 | \$43,724.00 | 0.00 | \$0.00 |
| | Subtotal Itoms Change Orders | | | | · | \$47,084.00 | | | \$47,084.00 | | \$0.00 |
| | TOTAL FOR CONTRACT WO-23-22 | | | | | \$247,763.50 | | | \$268,006.50 | | \$20,243.00 |
| | TOTAL PAYMENT | | , | 98.04 | | \$242,689.39 | 100.0% | | 3268,006.50 | 100.00 | \$25,317.1 |
| MTE: AS | STERISK (*) DENOTES FINAL QUANTITY OR MEASUREMEN | П. | | | | | | Prepared By GJ | M & AJ.D | | |

O.K. to Pay 1.M. 9/6/23

Stantec

| Owner: City | of Manilowoc | Date: | September 1, 2023 |
|-------------|----------------------------|-------------|-------------------|
| For Period: | 08/10/2023 to 06/30/2023 | Request No: | 2 |
| Contractor: | Advance Construction, Inc. | | |

CONTRACTOR'S REQUEST FOR PAYMENT River Point Development STANIEC PROJECT NO. 193805824

| SUMM | ARY | | |
|------|--|-------------|------------------|
| 1 | Original Contract Amount | • | \$ 202,964.50 |
| 2 | Change Order - Addition | \$65,042,00 | |
| 3 | Change Order - Deduction | \$0.00 | |
| 4 | Revised Contract Amount | | \$ 248,004,50 |
| 5 | Vatue Completed to Date | | \$ 248,004.50 |
| 7 | Relatinage | | \$ 5,074,11 |
| 6 | Less Amount Paid Previously | | \$ 242,689,39 |
| 8 | AMOUNT DUE THIS REQUEST FOR PAYMENT NO. | 2 | \$ 20,243.00 |
| | Recommended for Approval by: STANTEC Jacob Woelmer Jacob Woelmer | | |
| | Approved by Contractor: Advance Construction inc. | | |
| | Approved by Owner: City of Mantlewee | | |

| | | College of Abburganous in a | piicaucii ioi i | ayment ive |
|--------------------------------|---------------------------|--|-------------------------|-------------------|
| | Application Date: | EZ20Z71 E18 | Application Period: | 8/10/23 - 8/30/23 |
| To (Owner): City of Manitowoc | From (Contractor): | From (Contrador): ADVANCE CONSTRUCTION, INC. | Via (Enginser): | |
| | | | | Stantec |
| Contact: Dan Koski | Contact: | Paul Kuttgen | Contact | Jacob Weelmer |
| Project: Fiver Paint Fil | Address: | 241 Woodale Avenue Green Bay, WI 54313 | Address: | |
| Owner's Contract No.: WO-23-22 | Contractor's Project No.: | et No.: | Engineer's Project No.: | |

Approved Change Orders CHANGE ORDERS NET CHANGE BY Number TOTALS Change Order Summary Additions \$65,042.00 \$65,042.00 \$65,042.00 Deductions 1. ORIGINAL CONTRACT PRICE -8. LESS PREVIOUS PAYMENTS (Line 6 from Prior Application) 4. TOTAL COMPLETED TO DATE 9. AMOUNT DUE THIS APPLICATION ... S. RETAINAGE: (Column L Total on Progress Estimates) 242,689.39 268,006.50 268,006.50 262,932.39 202,964.50 65,042.00 5,074,11

| Contractor's Certification | Payment of: | S \$20,243,00 (Line 8 or other - attach explanation of the other amount) |
|---|-----------------|--|
| The undersigned Contractor certifies that to the best of its knowledge: | | |
| (1) all proving amorase payments received from Owner on account of Work done | Recommended by: | |
| (1) at previous progress population received from control of control thave been applied on account to discharge Control for Payment obligations incurred in connection with Work covered by prior Applications for Payment. | | (Engineer) (Date) |
| | Payment of: | |
| Listed in or covered by this Application for Payment will pass to Owner per Article 15 of the General Conditions: and | | (List o to the control of the contro |
| | Approved by: | (Owner) (Date) |
| (3) all Work covered by this Application for Payment is in accordance with the Contract | | |
| Documents and is not defective. | | |
| | | |
| By: 1/21/27 | | |
| TO SOUTH DINIES | | |

Page 1 of 1

| For (Project): | River Point Fill - W0-23-22 | | | | | |] | Application Da | ite: | 8/3 | 1/2023 |
|------------------------|--|-------------|-----------------------|-------------------|--------------------------|------------------------------------|---------------------------------|------------------------------------|---------------------------------|------------------------------------|--------------------------------|
| ror (rroject). | River Point Fill - 440-23-22 | | | | | | | | | | |
| Application Period: | 8/10/23 - 8/30/23 | | | | - | | | | | | |
| Α | 8 | С | D | E | F | G | н | ī | J | K | L |
| | | | | | | Werk Compl | cted Previously | Work Comp | leted This Period | Total Work C | ompleted to Date |
| Item No. | Description | Unit | Estimated Quantity | Bid Unit Price | Bid item Value (5) | Estimated Quantity Installed | Value of Work Installed (\$) | Estimated Quantity Installed | Value of Work Installed (\$) | Estimated Quantity Installed | Value of Work Installed (5) |
| 1.00 | Moblization | LS | 1,60 | 19,000,00 | 19,000.00 | 1.00 | 19,000.00 | | | 1.00 | 19,000,00 |
| 2.00 | Construction Staking | เร | 1.00 | 3,000.00 | 3,000.00 | | | | | | |
| 3.00 | Traffic Control | រន | 1.00 | 2,000.00 | 2,000.00 | 1,00 | 2,000.00 | | | 1.00 | 2,000.00 |
| 3.00 | Traine Congo | | 1.00 | 2,000.00 | 2,000.00 | 465.00 | 930.00 | <u> </u> | | 465,00 | 930.00 |
| | | | | | | | | | | | |
| 4.00 | Sit Fence | LF | 72.00 | 2.00 | 144.00 | 3,00 | 3,600.00 | | | 03.0 | 3,600.00 |
| | | | • | | | | | | | | |
| 5.00 | Tracking Pad | EA | 1.00 | 1,200.00 | 1,200.00 | 1.00 | 3,000,00 | | | 1,00 | 3,000,00 |
| 8.00 | Clearing and Grubbing | LS | 1.00 | 3,000.00 | 3,000.00 | | | | | | |
| | | | | | | 5.00 | 500,00 | | | 5.00 | 500.00 |
| 7.00 | Inlet Protection, Type C | EA | 5.00 | 100.00 | 500.00 | | | | | | |
| | | | | | | 6,855.00 | 58,267.50 | | | 6,855.00 | 58,267.50 |
| B.00 | Haul Common Excavation and Compact | CY | 6,855.00 | 8.50 | 58.267.50 | | | 1 | | | l |
| | Tibul Collinoi Chearatai alla Collipaci | | 0,000.00 | 0.00 | 00,207,00 | 12,616.00 | 88,312.00 | | | 12,616,00 | 88,312.00 |
| 9.00 | Hauil Common Excavation and Stockpile | CY | 8,600.00 | 7.00 | 60,200.00 | | | l | | 1 | |
| 9,00 | Hatta Continon Excavation and Stockfule | CI | 8,000.00 | 7.00 | 00.200.00 | 10,285.00 | 20,570.00 | _ | | 10,285.00 | 20,570.00 |
| | Load Stockpiled Material from the Site for | | | 0.00 | 00.040.00 | | | | | | |
| 10.00 | Hausing | CY | 15,455.00 | 2.00 | 30,910.00 | 1.00 | 4,500.00 | <u> </u> | | 1.00 | 4,500.00 |
| | | | | | | | | | | Ĺ | l |
| 11.00 | Storm Inlet on Edsting Storm Line | EA | 1.00 | 4,500.00 | 4,500.00 | | | 6,530.00 | 20,243,00 | 6,530,00 | 20,243.00 |
| | | | | | | 1 | | -, | | | |
| 12.00 | Seeding with 3° Topsoil | SY | 6,530.00 | 3.10 | 20,243.00 | | | | | | |
| | | | | | | | | | | | |
| | CHANGE ORDER #1 | | | | | 1,00 | 500,00 | | ļ | 1,00 | 500,00 |
| CO1.1 | Inlet Adjustment | EA | | 500.00 | | 1.00 | 3.000 | | | "" | |

î

| Į | ١ | į | 3 |
|---|---|---|---|
| | | | |

| \$268,006.50 | | \$20,243.60 | | \$247,763.50 | | \$202,964.50 | | | | SWE | TOTAL BID ITEMS |
|------------------------------|------------------------------------|------------------------------|------------------------------------|--------------------------------|------------------------------|---------------------------|-------------------|-----------------------|------|--|-----------------|
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | 4.00 | | CY | Excavate and Load Material from the Site for Loading | CO1.4 |
| 43,724.00 | 10,931,00 | | | 43,724.00 | 10,931,00 | | | | | | |
| | | | | | | | 650.00 | | ાડ | Proctor Test | CO1.3 |
| 60.039 | 1.00 | | | 680.00 | 1.00 | | | | | | |
| | | | | | | | 10.00 | | æ | Additional Sitt Fence (price increase) | C01.2 |
| 2,200.00 | 220.00 | | | 2,200.00 | 220.00 | | | | | | |
| Value of Work Installed (3) | Estimated Quantity installed | Value of Work histalled (\$) | Estimated Quantity Installed | Value of Work Installed (5) | Estimated Quantity Installed | Bid Item Value (\$) | Bid Unit Price | Estimated Quantity | Unit | Description | item No. |
| Total Work Completed to Date | Total Work Co | Work Completed This Period | Work Comp | Work Completed Previously | Work Comple | | | | | | |
| _ | * | ٦ | _ | * | G | П | n | 0 | C | В | A |
| | | | | | | | | | | 81 a C - 63 a C - | Period: |
| | | | | | | | | | | | Application |
| | | | | | | | | | | For (Project): Kiver Point Fill - WU-23-22 | For (Frieged): |
| 8/31/2023 | 578 | tte: | Application Date: | | | | | | | | |